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	What you need to know & be able to do
	Things to remember
	
	

	A.  Solve for x when the angles are supplementary.
	Angles add to 180º
	1. 
30°
2x – 50°

	2.
One angle is 12 more than twice its supplement.  Find both angles.

	B. Solve for x when the angles are complementary.
	Angles add to 90º
	3.   x + 5
2x - 10

	4.  

3x + 10 and 2x – 5 are complementary.     Solve for x. 


	C.  Recognize and solve vertical angles
	Set vertical angles equal to each other
	5.4x + 12
100°






  
	6.   x + 50
 2x - 20




	

	

	D. Name and solve problems involving angles formed by 2 parallel lines and a transversal.
	Consecutive interior angles are supplementary.  Alternate interior, alternate exterior, and corresponding angles are congruent.
	7. 

 

	8.




	
	
	9.

 
	10.





	E. Recognize and solve midsegment of a triangle problems
	A midsegment connecting two sides of a triangle is parallel to the third side and is half as long.
	11.

     
	12.

   

	F. Recognize and solve triangle proportionality theorem problems
	If a line parallel to one side of a triangle intersects the other two sides of the triangle, then the line divides these two sides proportionally.
	
13.
	14.



	G.Solve for x in problems involving the sum of the interior angles of a triangle.
	The interior angles of a triangle sum to 180°.
	15.95°
x°
35°

	16.3x
(5x – 14)



	H. Recognize and solve problems involving the congruent base theorem.
	If two sides of a triangle are congruent, then the angles opposite those sides are congruent.
	19.

    
	20.

      

	I. Name Corresponding Parts of Triangles.
	
	
25. 



	
26. 




	J. Determine if two triangles are congruent.
	Remember the 5 ways that you can do this: SSS, SAS, ASA, AAS, HL
	27. 
	[image: ]28. 


	A. Perform a dilation with a given scale factor
	When the center of dilation is the origin, you can multiply each coordinate of the original figure, or pre- image, by the scale factor to find the coordinates of the dilated figure, or image.
	1. Dilate with k = ½.


 
	2. Dilate with k = 2.





	B. Find the missing side for similar figures.
	Set up a proportion by matching up the corresponding sides.  Then, solve for x.
	3. 

 

	4.

     

	
	
	5.

 

	6.



	C. Determine if 2 triangles are similar, and write the similarity statement.






	Remember the 3 ways that you can do this: AA, SAS, SSS
	7. ΔGNK ~  ______ by______




	8. ΔABC ~  ______ by______




                                                                               

Unit 2 – Right Triangle Trigonometry

· Trig Ratios – 
Sin  =      Cos  =      Tan  = 

· [image: ]Inverse Trig Ratios – Only used when finding the angle measure of a right triangle.
[image: ][image: ]



1) In right ABC, A and B are complementary angles.  The value of cos A is 5/13.  What is the value of sin B?
                                                


	a) 5/13			b) 12/13		c) 13/12			d)13/5


2) Triangle ABC is given below.   What is the value of cos A?
                                                                              [image: ]
	a) 3/5			b)3/4			c) 4/5				d) 5/3

3) In right triangle HJK, J is a right triangle and tan H = 1.  Which statement about HJK must be true?


a) sin H = ½     b) sin H = 1		c) sin H = cos H		d)sin H = 1 / cos H


4) A 12 foot ladder is leaning against a building at a 75° angle with the ground.
Which can be used to find how high the ladder reaches up the side of the building?



[image: ]a) 			b) 


c) 			d) 	
5) A hot air balloon is 1200 feet above the ground.  The angle of depression from the basket of the hot-air balloon to the base of a monument is 54°.
                                                                          [image: ]   

Which equation can be used to find the distance, d, in feet, from the basket of the hotair balloon to the base of the monument?





a)  b) 	 c) 		d) 


6) 

[image: ]If  , then what is?
                                                               






	a) 		b) 	    c)      	d)  

7) Bianca uses an angle-measuring device on a 3-foot tripod to find the height, h, of a weather balloon above ground level, as shown in this diagram.
                                                               [image: ]
The balloon is at a 40° angle of elevation. A radio signal from the balloon tells Bianca that the distance between the tripod and the balloon is 25,000 feet.      Which expression represents the height, h, of the balloon above ground level?




a)       b)        c) 	       d) 

8) Use this diagram of a cone to answer the question.                                                               
[image: ]The base of the cone has a radius of 6 cm.  Which expression represents the slant height, in centimeters, of the cone?




a) 		b) 		


c) 		d) 



[bookmark: _GoBack]Unit 3 – Circles and Spheres

STANDARD: CIRCLES

· Area – 

· Circumference – 

· Parts of a Circle –
[image: ]








· Properties of Tangent Lines –
· Tangent and a radius form a right angle
· You can use Pythagorean Theorem to find the side lengths
· Two tangents from a common external point are congruent
· Central Angles – 

· Inscribed Angles – 

· Angles Outside the Circle –

· Intersecting Chords –





1) Circle P is dilated to form circle P'. Which statement is ALWAYS true?                                                

a) The radius of circle P is equal to the radius of circle P'.
b) The length of any chord in circle P is greater than the length of any chord in circle P '.
c) The diameter of circle P is greater than the diameter of circle P '.
d) The ratio of the diameter to the circumference is the same for both circles.


2) 

In the circle shown below, is a diameter and .
                                                                            [image: ]       
       What is the measure of ABC?
	a) 15°			b)30°			c) 60°				d) 120°

3) Circle E is shown.                                                                           
                                                                          [image: ]

       What is the length of ?




	a) 		b) 		c) 			d) 

4) Circle Y is shown.                                                                           
                                                                          [image: ]  
       What is the area of the shaded part of the circle?




	a) 		b) 		c) 			d) 

5) The spokes of a bicycle wheel form 10 congruent central angles. The diameter of the circle formed by the outer edge of the wheel is 18 inches.
                                                                          [image: ]
What is the length, to the nearest 0.1 inch, of the outer edge of the wheel between two consecutive spokes?
	a) 18. in.		b) 5.7 in. 		c) 11.3 in.			d) 25.4 in.

6) Jason constructed two cylinders using solid metal washers. The cylinders have the same height, but one of the cylinders is slanted as shown.[image: ]


     Which statement is true about Jason’s cylinders? 


a) The cylinders have different volumes because they have different radii.
b) The cylinders have different volumes because they have different surface areas.
c) The cylinders have the same volume because each of the washers has the same height.
d) The cylinders have the same volume because they have the same cross-sectional area at every plane parallel to the bases and the same height.

7) What is the volume of a cylinder with a radius 3 in. and a height of 9/2 in.?





a) 		b) 		c) 			d) 

8) 

In circle O, is a diameter. The measure of  is 72°.[image: ]

What is the measure of SPR?
a) 36°
b) 54°
c) 72°
d) 108°

9) Isosceles XYZ is inscribed in this circle.[image: ]


     
      What is the measure of XYZ?
a) 48°
b) 54°
c) 72°
d) 108°

10) 
In this diagram, is tangent to circle P at point T.[image: ]


      The measure of minor arc  is 70º. What is mTQP?
a) 20°
b) 25°
c) 35°
d) 40°


	What you need to know & be able to do
	Things to remember
	
	

	Find the measure of arcs from central angles.
	Angle = Arc
	[image: ]
	
1. Find 

	
	
	
	
2. Find 

	
	
	
	
3. Find 

	
	
	
	
4. Find

	Find the measure of arcs and angles with inscribed angles
	

	
5. Find  [image: ]
	
6. Find 
 [image: ]

	
	
	
7.  Find 
[image: ]
	
8. Find 
[image: ]

	Find the measure of arcs and angles if the angle is inside the circle
	

	

9. Find  and 
[image: ]

	10. Find the value of x.
 [image: ]

	
	
	11.  Find 1 & 2
[image: ]
	12. Find 1 & 2
[image: ]

	Find the measure of arcs and angles if the angle is outside the circle.
	

	13. Find 1.
[image: ]
	14. Find 1 & 2.
[image: ]

	
	
	15. Find 1 & 2.
[image: ]170○

	16. Find the value of x.
x○
50○


	Find the area of circles
	

	17. The area of a circle is 31.4 cm2.  What is the radius?
	18. Find the area of a circle with a diameter of 22 inches.

	Find the area of sectors
	

	19. Find the area of the shaded region
[image: ]
	20. Find the area of the shaded region.
[image: ]6 in


	Find the circumference of circles
	

	21. Find the circumference of a circle with a radius of 8 m.
	22.  The circumference of a circle is 25.12 ft.  What is the radius?

	Find arc lengths
	

	
23. Find the arc length of 
[image: ]
	
24. Find the arc length of .
[image: ]4 in


	Word Problems
	25.  A birthday cake is sliced into 8 equal pieces.  The arc length of one piece of cake is 6.28 inches, as shown.  Find the diameter of the cake.
[image: ]
	26.  A wall clock has an area of 452.39 in2.  Find the diameter of the clock.  Then find the area of the sector formed when the time is 3:00.
[image: ]


Volume
	[image: ]Cylinder




	· [image: ]Sphere


	
Pyramid: 
B= base area
[image: Description: http://s3.amazonaws.com/answer-board-image/ee76165a-75cc-4e4c-9a49-17f1530b5990.jpeg]
	
Cone
B=Base area
[image: ]

	[image: ]
	


	
	



 Probability
Probability = 
Example: 4 red marbles 2 green marbles, 3 yellow marbles in a bag.  What is the probability that you draw a red marble.
P(Red) = 

Mutually Exclusive Events (two or more events that have no common outcomes) 
use P(A U B) = P(A) + P(B)
	Example:  What is the probability of rolling two dice with a sum of 3 or an even sum
	P(sum of 3 or even sum) = P(sum of 3) + P(even sum)
	P(sum of 3 or even sum) =  

Overlapping Events (2 or more events that have at least 1 common outcome) use 
P(A U B) = P(A) + P(B) – P(A ∩ B)
	Example: What is the probability of drawing a heart or a queen 
	P(heart or queen) = P(heart) + P(queen) – P(heart ∩ queen)
	P(sum of 3 or even sum) =  

Independent Events (the outcome of one event does not affect the probability of a second event) 
  use P(A ∩ B) = P(A) ● P(B) 
Example:  4 red marbles 2 green marbles, 3 yellow marbles in a bag.  What is the probability that you draw a red marble, replace the marble, then draw another red marble?
	P(Red ∩  Red) = P(Red) ● P(Red)
	P(Red ∩  Red) =  = 

Dependent Events (the outcome of one event does affect the probability of a second event) 
  use P(A ∩ B) = P(A) ● P(B|A) 
Example:  4 red marbles 2 green marbles, 3 yellow marbles in a bag.  What is the probability that you draw a red marble, then draw yellow marble without replacement?
	P(Red ∩  Yellow) = P(Red) ● P(Yellow|Red)
	P(Red ∩  Yellow) =  = 

Conditional Probability (when determining the probability of a subset of the sample space)
Use P(A|B) = 
Example: 	[image: ]
Find the probability that a person likes vanilla given they are male
	P(Likes Vanilla | Male) =  = 






Practice
[image: ]1. 
	
	
	
	
	
	
	
	
	
	
		
	
[image: ]	
2	


[image: ]
3. 
. 

4.   A. coin is tossed, then a die is rolled, and the results are recorded. What is the number of possible outcomes for this event ?

5.  Michelle draws a card from a standard deck of 52 cards. She replaces the card and draws a second card. What is the probability that she draws a red card and then a black card?

6.  Which event includes an example of a dependent event?
	A)
	A coin is flipped. The result is recorded. The coin is then flipped a second time.



	B)
	A die is rolled. The result is recorded. The die is then rolled a second time.



	C)
	A card is drawn from a standard deck of 52 cards. The card is replaced and a second card is drawn.



	D)
	A bag contains red and green marbles. A marble is drawn from the bag and is not replaced. A second marble is then drawn from the bag.




7. If you choose one card from a standard deck, what is the probability that the card is either red or a king?
	A)
		3

	13



	    B)
		5

	13



	      C)
		7

	13



	   D)
		9

	13





                                    



8. If a die is rolled twice, what is the probability of rolling a 5 and then a 2?
	
		

	





	A)
		1

	36



	  B)
		1

	3



	    C)
		1

	6



	      D)
		2

	36





 

9. Mary Katherine has a bag of 3 red apples, 5 yellow apples and 4 green apples. Mary takes a red apple out of the bag and does not replace it. What is the probability that the next apple she takes out is yellow?




	A)
	8%
	   B)
	67%       
	
	    C)
	73%             
	       D)
	91%


10.  In Salem, 82% of the households have cable television and Internet access and 90% of the houses have cable television. What is the probability that a house has Internet access given that it has cable television?
 

11. Michael has a drawer with 8 pairs of black socks and 12 pairs of white socks. Without looking he takes a white pair of socks out of the drawer. What is the probability that the next pair he takes out is black?

12. There are 10 marbles in a bag, and the marbles are either red or blue. Eric will randomly choose two marbles from the bag, without replacing the first one. If the probability of both marbles' being red is   2/15,  how many BLUE marbles are in the bag? 
 



13.  What is the probability that you draw a diamond or a spade from a standard deck of cards?

14.  In a bag of 100 candies, 55 candies are circle-shaped and 45 are square-shaped. 35 candies have almond cores, and the remaining ones have pecan cores. There are 38 circle-shaped candies with pecan cores.
What is the probability that a candy picked at random is circle-shaped or has a pecan core?
	A)
	0.20



	B)
	0.22



	C)
	0.79



	D)
	0.82




15. There are 15 cards, numbered 1 through 15. If you pick a card, what is the probability that you choose an odd number or a two?

Equation of circles
Standard form :   (x-h)2 + (y-k)2 = r2      Center ( h, k),  radius rTo change from general to standard form, use the process of completing the square.
· Move constant to the right side
· Group the x and y terms
· Take half the x and y coefficients , square the result and  add to both sides of the equation.
· Factor the x, and y terms; simplify the RHS of the equation




General Form : 





1. What is the radius and center for the circle ? 

2.  Write the equation of the circle with center (3, -7) and radius 3

[image: ]3. Write the equation of the circle with the center (3, -3) and  diameter 4cm  Then graph the circle.






4. Change the equation    to standard form.  State the center and the radius


[image: ]5.




[image: ]6;





7. [image: C:\Documents and Settings\cee13931\My Documents\TI Education\TI InterActive!\TIIimagefile25099.gif]Determine whether Point A lies on the circle whose center is Point C and which contains the Point P(0, 5).  Justify your answer mathematically using a graph of the circle.
Point A(-3, 4); Point C(0, 0); Point P(0, 5)







    Construction 8.



1) Consider the construction of the angle bisector shown.
                                                               [image: ]
     Which could have been the first step in creating this construction?


	A. Place the compass point on Point A and draw an arc inside 

	B. Place the compass point on Point B and draw an arc inside 


	C. Place the compass point on Vertex Y and draw an arc that intersect and .
	D. Place the compass point on vertex Y and draw an arc that intersects point C.

2) Consider the beginning of a construction of a square inscribed in circle Q.
Step 1: Label point R on circle Q.
Step 2: Draw a diameter through R and Q.
Step 3: Label the intersection on the circle point T.
                                                    [image: ]
What is the next step in this construction?

A. Draw radius .
B. Label Point S on circle Q.

C. Construct a line segment parallel to .

D. Construct the perpendicular bisector of .

3) Suppose we wish to construct, using compass and straightedge, angle DAE congruent to angle DBC. Which step would be correct to do first?
	



[image: Description: http://usatestprep.com/modules/gallery/files/22/2238/2238.gif]
	A. Place the compass point at B.
	B. Place the compass point at C.
	C. Place the straightedge along A and C.
	D. Place the straightedge along C and D.
4) Elizabeth is constructing the center of the circle shown. What step should be completed next?
   [image: Description: http://usatestprep.com/modules/gallery/files/61/6127/6127.png]
	A. Draw a segment connecting points A and C.
	B. Draw a segment connecting points A and D.
	C. Construct a circle with center D passing through Point B.
	D. Construct the perpendicular bisector of CD.

5) Suppose we wish to construct a line segment at point A which is perpendicular to segment BC. A correct first step would be to:
                                                   [image: Description: http://usatestprep.com/modules/gallery/files/22/2237/2237.gif]
	A. Place the compass point at A.
	B. Place the compass point at B.
	C. Place the compass point at C.
	D. Place the compass point at D.

6) Which geometric principle is used to justify the construction below?

                                                            [image: ]
A. Two lines are perpendicular if they intersect to form congruent adjacent angles.
B. When two lines are intersected by a transversal and the corresponding angles are congruent, the lines are parallel.
C. When two lines are intersected by a transversal and alternate interior angles are congruent, the lines are parallel.
D. A line perpendicular to one of two parallel lines is perpendicular to the other.

7) The __________ is the center of gravity of a triangle.

A. circumcenter
B. incenter
	C. centroid
	D. orthocenter








Partitioning on a number line 
· When dividing a line segment into a given ratio, you need to first determine the number of parts.

· A line segment divided into a 3:2 ratio has 5 parts.

· A line segment divided into a  ratio has 5   parts.

1:    T is at -8 and R is at 6. Find C, so that TC is three-sevenths of TR.  
       
[image: ]

Step 1: Find the distance from T to R

Step 2: Multiply the distance by the ratio

Step 3: Add the answer to the starting point and plot the point


2.  B is at 7 and T is at -3. Find S, so the directed line segment BT is partitioned in a 3:2 ratio. 
[image: ]
 


[image: ]Partitioning a line segment  
The formula can be used to partition a line segment in 
the ratio a:b and points ( x1, y1), (x2, y2)


1. Point A(-5, 3) and Point H(5, 8).  Find Point J on directed line segment AH so that the segment is partitioned in a 3:2 ratio.


2. Given point X(-12,-5) and Y(4, -1), find point Z on the directed line segment XY that is in a 3:1 ratio.




Properties of Parallelograms:
· Opposite sides are congruent
· Opposite angles are congruent
· Consecutive angles are supplementary
· Diagonals bisect each other 


1. Find the missing variable for the parallelogram.                                          

h = ___________4h – 7 
2h + 5
5m + 2
3m +18





m = ___________

[image: ]







x = ___________








2 .  PLOT each set of points on a single graph and find the missing point.

    Parallelogram (-5, 3) (5, 3) (8, 6) ______                        L(3, -4), M(1, -2), N(5, 2) _______
[image: [image]]
[image: C:\Documents and Settings\cee13931\My Documents\TI Education\TI InterActive!\TIIimagefile25099.gif]













3. Find the area and perimeter of the shape 




Parallel and perpendicular lines: 
· Parallel lines have equal slopes, 
· Perpendicular lines have slopes that are opposite reciprocals

Write the equation of a line parallel and a line perpendicular to the given equation

     



Density  ( Practice will be handed out in class)
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image124.png
This Venn diagram shows the names of students in Mr. Leary’s class that own bicycles and
skateboards.

Bicycle Skateboard

Ryan
Sarah
Mariko
Nina

Dion
Amy

Gabe
Abi

Let set 4 be the names of students who own bicycles. and let set B be the names of students
who own skateboards.

a. Find 4N B. What does the set represent?
b. Find 4UB. What does the set represent?

c. Find (4UB)". What does the set represent?




image125.png
In a certain town. the probability that a person plays sports is 65%. The probability that a
person is between the ages of 12 and 18 is 40%. The probability that a person plays sports
and is between the ages of 12 and 18 is 25%. Are the events independent? How do you
know?




image126.png
41 Tandom survey was conducted to gathier 1miormation about age and cmpioyient status.
This table shows the data that were collected.

Employment Survey Results

Age (in Years)
Employment Status | Less than 18 | 18 or greater
Has Job 20 587
Does Not Have Job 245 92

a. Whatis the probability that a randomly selected person surveyed has a job, given that the
person is less than 18 years old?

b. What s the probability that a randomly selected person surveyed has a job, given that the
person is greater than or equal to 18 years old?

¢ Are having a job (4) and being 18 or greater (B) independent events? Explain.
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image132.png
Which is an equation for the circle with a center at (-2, 3) and a radius of 3?
A P+ s ar—6y+22=0

B. 272 +27+3x-3y+4=0

C. P+ +4x—6y+4=0

D. 3’ +3) +4x—6y+4=0
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Which point is on a circle with a center of (3, -9) and a radius of 52
A (-6.5)

B. (-1.6)

C. (1.6

D. (6.-5)
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